
6156 6156.5 6157 6157.5 6158
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
cyclenum

9.6

9.8

10

10.2

10.4

10.6

10.8

11

11.2

11.4

11.6

11.8

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6402}
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1.5−

1−

0.5−

0

0.5

de
lta
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_1

2X
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X

delta13_12X4eX:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
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0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

2

2.2

de
lta
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2X
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Y

delta46_12X4eY:cyclenum {run == 6402}
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6400.5

6401

6401.5
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6402.5

6403

6403.5

6404

ru
n

run:cyclenum {run == 6402}
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cyclenum

0

0.5

1

1.5

2

2.5

3

se
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en
t

segment:cyclenum {run == 6402}



6156 6156.5 6157 6157.5 6158
cyclenum

180.8−

180.6−

180.4−

180.2−

180−

179.8−

179.6−

179.4−

179.2−

179−

178.8−

178.6−

us
l_

1X

usl_1X:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
cyclenum

3−

2.5−

2−

1.5−

1−

us
l_

4a
Y

usl_4aY:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
cyclenum

147.5

148

148.5

149

149.5

us
l_

4e
X

usl_4eX:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
cyclenum

34

34.5

35

35.5

36

us
l_

4e
Y

usl_4eY:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
cyclenum

66−

65.5−

65−

64.5−

64−

us
l_

12
X

usl_12X:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
cyclenum
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6400.5

6401

6401.5

6402

6402.5

6403

6403.5

6404

ru
n

run:cyclenum {run == 6402}



6156 6156.5 6157 6157.5 6158
cyclenum

229.5−

229−

228.5−

228−

227.5−us
r_

1X

usr_1X:cyclenum {run == 6402}
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cyclenum

0.6

0.8

1

1.2

1.4

1.6

1.8

2

2.2

2.4

2.6

2.8

us
r_

4a
Y

usr_4aY:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
cyclenum

314.5

315

315.5

316

316.5

us
r_

4e
X

usr_4eX:cyclenum {run == 6402}
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cyclenum

28

28.2

28.4

28.6

28.8

29

29.2

29.4

29.6

29.8

30

30.2

us
r_

4e
Y

usr_4eY:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
cyclenum

70.5−

70−

69.5−

69−

68.5−u
sr

_1
2X

usr_12X:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
cyclenum

6400

6400.5

6401

6401.5

6402

6402.5

6403

6403.5

6404

ru
n

run:cyclenum {run == 6402}



6156 6156.5 6157 6157.5 6158
cyclenum

27333.5

27334

27334.5

27335

27335.5

us
l_

co
il1

usl_coil1:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
cyclenum

5543

5543.5

5544

5544.5

5545

us
l_

co
il3

usl_coil3:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
cyclenum

6950

6950.5

6951

6951.5

6952

us
l_

co
il4

usl_coil4:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
cyclenum

1206−

1205.5−

1205−

1204.5−

1204−

us
l_

co
il6

usl_coil6:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
cyclenum

26570.6

26570.8

26571

26571.2

26571.4

26571.6

26571.8

26572

26572.2

26572.4

26572.6

26572.8

us
l_

co
il7

usl_coil7:cyclenum {run == 6402}
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6400

6400.5

6401

6401.5

6402

6402.5

6403

6403.5

6404

ru
n

run:cyclenum {run == 6402}



6156 6156.5 6157 6157.5 6158
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27653.5−

27653−

27652.5−

27652−

27651.5−us
r_
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il1

usr_coil1:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
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5253.5−

5253−

5252.5−

5252−

5251.5−us
r_

co
il3

usr_coil3:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
cyclenum

7109.5

7110

7110.5

7111

7111.5

us
r_

co
il4

usr_coil4:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
cyclenum

568.5−

568−

567.5−

567−

566.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
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31297.2

31297.4

31297.6

31297.8

31298

31298.2

31298.4

31298.6

31298.8

31299

31299.2

31299.4

us
r_

co
il7

usr_coil7:cyclenum {run == 6402}
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6400

6400.5

6401

6401.5

6402

6402.5

6403

6403.5

6404

ru
n

run:cyclenum {run == 6402}



6156 6156.5 6157 6157.5 6158
cyclenum

456−

455.5−

455−

454.5−

454−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
cyclenum

74−

73.5−

73−

72.5−

72−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
cyclenum

29

29.5

30

30.5

31

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
cyclenum

468.4−

468.2−

468−

467.8−

467.6−

467.4−

467.2−

467−

466.8−

466.6−

466.4−

466.2−

4e
X

_c
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l1

4eX_coil1:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
cyclenum

89−

88.5−

88−

87.5−

87−

4e
X
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oi

l3

4eX_coil3:cyclenum {run == 6402}

6156 6156.5 6157 6157.5 6158
cyclenum

24.5

25

25.5

26

26.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6402}



6156 6156.5 6157 6157.5 6158
cyclenum

177

177.2

177.4

177.6

177.8

178

178.2

178.4

178.6

178.8

179

179.2

4a
Y
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4aY_coil4:cyclenum {run == 6402}
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55

55.5

56

56.5

57

4a
Y
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4aY_coil6:cyclenum {run == 6402}
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11.4−

11.2−

11−

10.8−

10.6−

10.4−

10.2−

10−

9.8−

9.6−

9.4−

9.2−

4a
Y
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l7

4aY_coil7:cyclenum {run == 6402}
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189.6

189.8

190

190.2

190.4

190.6

190.8
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191.2

191.4

191.6

191.8

4e
Y
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l4

4eY_coil4:cyclenum {run == 6402}
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cyclenum

7.4−

7.2−

7−

6.8−

6.6−

6.4−

6.2−

6−

5.8−

5.6−

5.4−

5.2−
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Y
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4eY_coil6:cyclenum {run == 6402}
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10−

9.5−

9−

8.5−

8−
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Y
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4eY_coil7:cyclenum {run == 6402}



6156 6156.5 6157 6157.5 6158
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227.8−

227.6−

227.4−

227.2−

227−

226.8−

226.6−

226.4−

226.2−

226−

225.8−

225.6−
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X
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12X_coil1:cyclenum {run == 6402}
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82.5−

82−

81.5−

81−

80.5−
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X

_c
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12X_coil3:cyclenum {run == 6402}
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2
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3
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4
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X

_c
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12X_coil4:cyclenum {run == 6402}
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5.5

6

6.5

7
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X
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12X_coil6:cyclenum {run == 6402}
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437−12
X

_c
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12X_coil7:cyclenum {run == 6402}
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cyclenum

6400

6400.5
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6404
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n

run:cyclenum {run == 6402}
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